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1. Draw a regular octagon. On it, draw all lines of

symmetry. O

2. Draw line segmentE. C is the midpoint of AB .
If AC =8, find ABand BC. AB= &

A z B BC=2X

3. The relationship is: “is the same age as” Is this
relationship (a) reflexive (b) symmetric (c) transitive?
Give an example or counterexample for each of these.
FeUE) (o) Jehn 15 £ 2 Som2 g o & JBhn -

TRUE)(2) Tehn 15 the Som o on8 Sum & Som s Ehe some org o8 Joha,

BUE (@)l Tehn is Ehe Som2 0 on8 Sum & Som isthe some o £ Tom,
RE] l:fa,n o jsthe Sowao@ar'l'm ke

4. Given the points A (-2, 3 )and B (6 -5) find
(a) the midpoint of AB(C21¢, 3z5) (2,
(b) the length of AB= (-6 (z+55 5f6u +&b4 =2- €4

(c) the slope of AB 3--s =% _ @
2-¢ —g

5. For the line y = 3x +2, find the equation of the line
passing through the point (3,2) and
(a) parallel and (b) perpendicular to the given line.

6. Define:
(a) supplementary angles foir sndes with sum '80
(b) complementary angles. Poir anges with sum 90°

18. For parallelogram ABCD, if mzABC 85°, then:

/7

(a) mLBCD =7 |30°-85" =
(b) m£CDA =? [85°]

19. AC = AB . Find the measure of x and y.
A 121802 (65°)

[22 end] .
7.Draw (a) 4B (segment AB) (b) AB (ray AB) 8. Continue the pattern for the next 2 numbers:
e . s((a)1,4,9,16,25, 36, 41
— A g8 A € | ()1,3,6,10,15,2.,.2%
(c) 4B (line AB)
<= x—
9. Bis in the interior of Z40C. If Z40C= 70° and 10. Let B be between C and A. Use the segment =
/AOB=54° find Z/BOC A 70-S4 ‘_- addition postulate to solve for x. = Z
° BC=4x+3, AB=2x-1, AC=62. Find BC. b ea?
o B x—] )+(Lm=+3\ 57_ 2 ext1= =62 = jfx=10 “‘.'

11. Find the sum of the measutes of the interior 12. Define what is meant by congruent Tiay &€
angles of a convex octagon. (8-2) (180°) All corresponding aides & ongles are S eﬁcﬂﬂ B
13.

What type of angles are:

(a) Lland /7 (b) Lland 26

(c) Lands5 (d) L3andL7

(e) L2and/7 (e) Lland/3

(o )vaticor LS (L) [ineas pouf

(C)QH’ ext. L's (J)all: mk‘ L .(‘

(e)same ride ink L's (e ) correspond ing L's
14. (a) The measur%&)eac xterior angle of a 15. If AABC is congruent to ADEF then
regular hexagon is: a (@)BC= ? and (b) L4=? 2D
(b) The measure of each interior angle of a regul EF
hexagon is: f-2) 180" =(120°) o '30—60"
16. Define: = 17. The angles of a hexagon differ from each other by
(a) an equiangular polygon All s & 5° when put in ascending order. What are the angles? |
(b) an equilateral polygon All sides = 2+ (24S) + (X + ()  (x+1S) +( % +20) #+25)=720
(c) a regular polygon All Z's & sides = a4+ 7S =720 1615511255 117S, 1225517 8T

= |57.S* 1321S°°
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20. A trapezoid has parallel sides that measure 10 cm
and 14 cm. What is the length of the midsegment?

£ ol <[mew)

4

21. Given /B =«E and BC = EF. What other
piece of information is needed to show AABC = ADEF

by AAS Con ruence Postulate? /O\\ /O\
ILR = (D]

22. Z/A =/B and AC=BC.

A

D

AADC = ABEC by what postulate? ‘ ASA }

E

() BC=2(8) ={12)

L) rc= ZDE
2x+| = ’?- -—-)L

21-(— = ')Q -4

_2)

(a) D is the midpoint of AB, F is the midpoint of BC
and E is the midpoint of AC. If DE = 6, find BC.

(b) If instead, BC = 2x + 1 and DE = > x — 2. Solve for x

24. Rewrite the statement in the if-then form: Every
equilateral triangle has 3 congruent angles.

25.Define (a) an acute triangle, (b) an obtuse triangle,

(c) an isosceles triangle, (d) a scalene trlarl.%lk,_v (d) No sidgs =

A N isequalateral IFF iEhat 3= wf\gL&l‘ Ge)All U'S acutn (b)one dum 2 )At sk 2=
26. Solve: 3d + 5t =42 x 4 —» I2d +20E —’63S 27. WXYZ is a rectangle. WX = 5x -4 and XY = 3x +2 X
4d+3t=45 x3 —» e +ac = B2 and the perimeter of th? rectang}e is 3)2 I;md the W=
3d4st=u2 E=9) numerical value of ZY. (5x l+H- B2 =)
2d S 2 -2 q
220 ) 2Y-Wi=SCl=Ste 5] s 1§ 7= F R4

28. Define congruent polygons? p cerraspending ridef § LUf we =

29. AB is perpendicular to BC. Find ZA and ZC.
FO™N b =90
3x) 80 MmLA= D °
6x . mc=40°
60 40
B C

30. (a) The medians of a triangle all pass through
which point? Centroid.

(b) The angle bisectors of a triangle all pass through
which point? |ncentar

(c) The altitudes of a triangle all pass through which
point? orkhoentnr

(d) The perpendicular bisectors of a triangle all pass
through which point? ciroumcent@s

31. If ZACB = 80°, what is Z/BCE?

32.

33. Two sides of a triangle are 8 and 11. What are the
possible measurements of the third side?

. 3I< 39 qde < (9
dupe ¢ 5 Sum

34. /A and ZC are a linear pair.

If /A =25°then ZC ?
mLC = 180°~2S°

35. AABC = ADEF, AB = 10 feet, m«C = 50° and

36. If A= (-3, 2) and B = (4, 5), find the length of AB

mLB 430 Flnd a) AD and DE ﬁg-: \,23’4)1—\- (2—-:)2 - L(.q + q 4\1‘5—8—
IOB mLp=1801 43450 °[87"] '
pE =[io]
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37. For the conditional statement, “If | buy Ms. Doherty
presents, then she will be happy!”.... the underlined
portion is called the ? meH\e_“'S

38. Assume the following statements are true.

“If | go to my geometry lesson, | will get homework. If
get homework, then | will understand the work.” |
didn’t go to my geometry lesson. The conclusion of
the syllogism is: | will nac und@rtand the work.

|
39. (A) How many points determine a plane? [ =}
(B) How many points determine a Iine?l 2|

40. /1 and £2 are supplementary angles and /1
and /3 are vertical angles. If m/2 = 65°, then
ms3="7 | /2 |80'—6S°:=|!l§°]

41. Diagram not to scale.
The shortest side of the triangle is:

42. If msZJOK =(x+10)° and mZKOL = (4x—5)°,
and mZJOL = 60° . Find m£JOK and mZKOL

A R
42 | _ et 10)+ (ux-5) =60
ol ;"E’IHE < % 45 =60
LKoL=yx-5% SK =9
M =X~
= ||
e =11
90° 48° = °
C B o)
Lomiles
43. If | study for my semester final, then | will do well. | 44. A pilek_glies 70 miles due north and then lies As20°W.
(a) Find the converse of the above statement. Drowd o daogram thot represnts bhis jowney.
(b) Find the contrapositive of the above statement. uo 20°
(23 lp 1 do w2\l in my Semettor_final Khen | ctud ed (s
(L) LF [ don't dowell in my 28meptar final, hen | o\.(oln'|:_' STRRT
45. Solve for x: U044} 46. Find the values of the variables in the
parallelogram:
(ux+7o\+(5x+2<§=
¢ +3°= IR0°
QL = W
| X = lbl
47. Define: )Ag\lg\rybus (b) A rectangle (c) A square. Describe above using sides, angles and diagonals.
S0
48. Find x in simplified radical form: 49. Find x and y.
2 2+ 32
x*y10°=1S 12 y: 1z
- 12 =203
X ={12S ” = = = '?
10 15 . 300 @ 3 r_
- \]ET_S = JS\L—E , x ~2 %L\- 3J
= 2(4J3)

=573

50. Z1 and /2 are a linear pair. m/2 =56°. m/1 =7

A

51. Find the equation of the perpenziicular bisect
A=(3,4)and{7,2) midponk - 317, 447) =Es,3) ]

=u-2 =2 J_I - —_
St P8 T ju_3_=2:(;- X o>
J.SIqﬂ : "3:27.—3
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52. If it is a triangle, classify it as right, obtuse or 53. a

acute.

()6, 11,17 G+ll=17 [Nk o A | b

b) 8, 15, 17 1

Ec))g 15,17 5 le—H’“éZ 50

(d) 7,24, 26 0 . @ gz t 130°+B>¢!

(5)8’+IS = 171 @)% 1s*y n?* (d)7F2L 2 120 43X = |&
306 > 289 62S <676 3 =6

Line a is parallel to b. If m«£1 = 130° and |)< = 24

m/2 = (3x-10)°, find x.

54. Find x and y.

60°

gon_éae_ g0 © 55. Find xand y. o 1T qo‘
| J3 L 2 ll-ls:l‘.\rZ

X IO'-‘J"l

18y X IR = 45
PN S B e N R
= == us ~ =
X

y U=|o] |>C'—'|O\r7-)

56. Draw an acute angle. Construct the angle 57. Draw a line segment. Construct the perpendicular
bisector of the angle using a straight edge and a bisector of the line segment using a straight edge and
compass. a compass.

58. Draw line m and a point A not on the line. 59. Draw a triangle. COPY your triangle using a
Construct the parallel line to line m, through point A straight edge and compass.

using a straight edge and compass.

(5) y=3x+2

(o) povaiah flope =@
H-—?_"' 3(1—3>
= 2x—9

==

&

Review all proofs — there will be proofs on the final!!!!
A]] Py P‘ °q oms

, (312) — L7 ) (@) Rhombus - All sides <
= = oo L\ hiecked
(19) —LS\OPQ ‘éJ .?;Tajd\alj‘ 4
y-2= g (x-3)
(b)Rackonga « All J's 90°
-6 = -x+73 . D.agonab‘ L
3y = -x+ <) 5 H\ bwa por
I—g=-—'/)c 43 ) Squae E\i\f’.\wf? & fefcan_j‘e-
> ONPL0)

s © ..

®
2 o ©)




